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BA3—2 BEYIERTIHIEREINDSEHEICEAISHEIE (1/1) _ _ | HESEE | ERI9FEE
[ ZERIbOTE | BmEs | 12983015 [ Elea | =E-13 [ miath | BEmAER I 0l
, RIERD Tim T 5L 2 ERA
1;5.; TREOBBOEILHNORES TREQHBEEILADKRES TREOBEBOEILHDORES TREQHBEEILADKRES
&S X 4 B | TS DER 73@7:?—;‘5 & 4 TIHMASDKE| F& ﬁwxfgé R 4 B | LIEHSOLS ﬁmk?é X 4 rtimhooks | B 730)7:?—;‘5
(m) (m) (kN/m) BB RfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/mi)
1 100kN/mi%#8 2% 1.00|0.00 ~ 0.87 113.04|3mz#B 2% -~ - - —| 100kN/mM%E#B 2% 1.00| 11.62 ~ 15,19 113.04| 3m% 2% -~ - - -
Zzhlst 1.00]0.87 ~ 8.66 100.00] Z=hbLlst |0.00 ~ 8.66] 2.16 10.92 zhLst 1.00] 5.00 ~ 11.62 100.00] #hrist | 5.00 ~ 15.19| 2.16 10.92
2 100kN/mM%E#8 % % 1.00{0.00 ~ 1.41 121.42|3m%E#BZ % -~ - - —| 100kN/mM%E#BZ % 1.00| 13.31 ~ 19.29 121.42| 3m%E#BZ % -~ - - -
ZThilst 1.00] 1.41 ~ 9,19 100.00] ZhbList [0.00 ~ 9.19| 281 14.19 ThLst 1.00] 5.00 ~ 13.31 100.00] Zhiist | 5.00 ~ 19.29| 2.81 14.19
3 100kN/m%##B %% 1.00{0.00 ~ 1.29 119.58|3m##E=25|0.00 ~ 0.52| 3.42 17.30| 100kN/ Mm% % % 1.00| 16.75 ~ 24.79 119.58| 3mZ#BZ 5| 15.00 ~ 24.79| 3.42 17.30)
Fh st 1.00[1.29 ~ 9.08 100.00| #h st | 052 ~ 9.08] 3.00 15.16 Fh st 1.00] 5.00 ~ 16.75 100.00] =4t | 500 ~ 15.00f 3.00 15.16
4 100kN/mM%#8 % % 1.00/0.00 ~ 3.43 155.19|3m##E25|0.00 ~ 0.97| 3.64 18.38| 100kN/m%E#% % 1.00| 12.45 ~ 38.79 155.19| 3m##8x 5| 20.00 ~ 38.79| 3.64 18.38
zhilst 1.00] 3.43 ~ 11.21 100.00] Z=hilst |0.97 ~ 11.21] 3.00 15.16 zhLst 1.00] 5.00 ~ 12.45 100.00] #hld4t | 5.00 ~ 20.00f 3.00 15.16
5 100kN/mM%E#8Z% % 1.00{0.00 ~ 2.64 141.58| 3m%#EZ 5 -~ - - —| 100kN/m%i#8 2% 1.00| 10.56 ~ 22.19 141.58|3mZB %5 -~ - - -
zhst 1.00] 2.64 ~ 10.43 100.00] Zhbllst |0.00 ~ 10.43| 2.76 13.93 zhst 1.00] 5.00 ~ 10.56 100.00] Zhuist | 5.00 ~ 22.19| 2.76 13.93
6 100kN/m##B % % 1.00{0.00 ~ 2.88 145.58| 3m%#Bx % -~ - - —| 100kN/ Mm%z 5% 1.00| 10.54 ~ 2450 145.58| 3m%#B 2 % -~ - - -
ZFh st 1.00]2.88 ~ 10.66 100.00| #hi4t |0.00 ~ 10.66| 2.74 13.85 Fhn st 1.00] 5.00 ~ 10.54 100.00] #hdst | 500 ~ 2450 2.74 13.85
100kN/ Mm% 2% ~ ImEEZD ~ 100kN/ Mm% 2% ~ 3ImEBZD ~
Zh LSt ~ ZhLlsh ~ ZhLsh ~ Zh s ~
100kN/m%#8 % % ~ ImEEZ D ~ 100kN/m##8 % % ~ 3ImEHBR D ~
Zzhlst ~ Zzhs ~ zhst ~ Zhilst ~
100kN/mM%#BZ % ~ ImEEZD ~ 100kN/mM##BZ 5 ~ ImERBAD ~
zh s ~ Zhst ~ zh s ~ Zzh st ~
100kN/mM%#B % % ~ ImERERD ~ 100kN/M%E#BZ % ~ ImEBZD ~
Zzhs ~ Zhus ~ zhus ~ Zhst ~
100kN/mi%##8 2% ~ ImxHEz5 ~ 100kN/m##82.% ~ 3ImEBZD ~
zhlst ~ ZhLs ~ st ~ zhilst ~
100kN/m% 2% ~ ImEEZ D ~ 100kN/ M#%#8 % % ~ ImEHBZD ~
Zh s ~ Zhst ~ zh st ~ Zh st ~
100kN/ Mm% 2% ~ ImERERD ~ 100kN/ Mm% % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ zh s ~ Zzh st ~
100kN/mi%#8 2% ~ ImEEZRD ~ 100kN/ Mm% 2% ~ ImEBZD ~
Zh LSt ~ Zh st ~ ZhLs ~ Zh st ~
100kN/m%##82.% ~ ImEEZ D ~ 100kN/ Mm% % % ~ ImEHBRD ~
zhilst ~ Zhs ~ ThLst ~ Thils ~
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